105

82

SN

A

35

THISTw b 27002 t=2.5

BB AN- 7HIBETH

BAOVEAS 1=6.8
(B&)

danv+y EPDM t=1

=)

RO

=7
(3&)

TyT4J770Y7

RIEAN- ZIIBEEM

=27
(BI&)

8ISy 27V 1=2.0

XEgn#Es R1-081

il RiER® > EiWR t=1.06

i 20t
yorOy t=2

Bl RiAR® > ¥R t=1.06

BE
7B
(@)
*© KRR 8o
N
Bt
7B M
S 4mmF92EZ @300
s
7TV KR 86
—BAY) AN
Z2BEHH W=100 S
(@)
fe]
0
fp}
[@N]
7SI PEEMAN: !
1]
2 W
A
]

Bl NA- (B#M t=2 BEY)

~
D
=
VKA S
7Uh-%8
(@]
N

FHENIIN (BIE)

9/ AR

50

BiE-2 (REEE)

Tkt (Bg) fERDTZ

HIRRO~A =1$174 + 40

¥=Uv7 (Blg)

Bk (Bl&)

BrEAft (31d)

U537 99
1YF-04F- 1.8

BEAN- THIBEFH
85 7IIBLIAM

NpE 7V IBHEM

Stt=1.6 Bso XLE

WrtE A—A Kim st

FRU=9-n
LEEH 553‘3 Fﬁ@ﬁﬂfﬂ 5’( FXTE“WW 3‘/\”5 \/)V FPG* RATIERT - B8 ; oy A 2R F A = E!ﬁ}maj—_,qugn
2| Wk E e :
ol T ‘ : <2 S 2
1 ) E # A 2
I = &t = A\ = // ®




105

62

SN

A

35

THISTw b 27002 t=2.5

BB AN- 7HIBETH

BAOVEAS 1=6.8
(B&)

danv+y EPDM t=1

=)

RO

=7
(3&)

TyT4J770Y7

RIEAN- ZIIBEEM

=27
(BI&)

8ISy 27V 1=2.0

BE 7HIBLHM

BEAN- THIBEFH

il RiER® > EiWR t=1.06

NpE 7V IBHEM

Stt=1.6 Bso XLE

i 20t
yorOy t=2

Bl RiAR® > ¥R t=1.06

R
7B
(@)
*© KRR 8o
M
B
7B M
S 4mmF92EZ @300
-y g
/3
PHIBEHH W=80
(@)
]
o
fp}
[@N]
7SI PEEMAN: !
L
«©

Bl NA- (B#M t=2 BEY)

VKA R

7oh-28

EHENII (FIE)

kR4 7

¥=Uv7 (Blg)

e (5%)

POI=T=VJ
FIETA CBIE)

BitE-2 (REEH)

RO

FIRFEOTE =951

Bk (BI&)

FRP=F=A

7307 9¢
{VF=04F- 1.8¢

XEgn#Es R1-081

WrtE A—A Kim st

IF%2H

ES53y REBRR S/ MAE-INYFAS DI
WHRMEiR

FPG—

A AR - B

1 £l

2 EEf

& 5%

o Wi R AT#E

=BTSNS TYIOMTER

HoBHE

/ B




52

SN

A

35

THISTw b 27002 t=2.5

BB AN- 7HIBETH

BAOVRIISZ t=6.8

XEgn#Es R1-081

RIEAN- ZIIBEEM

8ISy 27V 1=2.0

(318)
danNv+y EPDM t=1
" BENN- TLIBHIHY
= y-yyg <@
(913 88 7LBEIH
tyF4v9J0v 7 ¥=Uv7
(91%)
BAVEAS2 t=6.8
(303%)
BE
T msH 7L BERH
(@)
* KR 80 SHABRYD > *A t=1.6
Sti=1.6 Bio ¥uE
i W2
vyohoy t=2
BE? =AY E — N - " =y -
o L s Eao- SR t=1.6 MHE A—AKEIGH
S 4mmF92EZ @300
SOy BN - (B3 t=2 ERY)
v KR 86
TRkt B
FRRBEIH W=70 N e =
(@)
]
o) \ 79-Frw S
NIE
fp} N
) - =3 ~ i
= —BAKT3 AR /] ] BAE-2 L-30x30x3 £ 65
******* S (TIBFR - BIBHIE)
L
«©
C—100x50x20x2.3
(A2)
o
BEAUS A T 50 ft EROTE
(Y34 b 5H)
100 SRR DA =I5 + 40
S0V (R) L]
KR = \—ﬁm (38)
FRAI27IWNI=T4 7 .
AEEAVMR t=25 T3 9¢
(B&) XL 4UF=94%- 1.8¢
Rp=9="
I=eh Vo539 REBRE 2/ N 2T Ny FAS DI FPG— RffiBh - B2 ff = £ A 8 SBISHIATISTY IR
8 T oTE-HEA ]
2| WHEIEE AN A
I i i# - L A g
Rl 7 £ 5t 2] 72 g / i




105

52

=

O

THISTrw b 27U t=2.5

BENN- TIIBEIM

BAOEASZ 1=6.8
(R&)

Janv+y EPDM t=1

Uy g
(R&)

BN E NEE#EES RT-081
120 T
35
¢
RKENN- ZHIBEFH
5=y
(BI&)

SIS ryh 27UL2Z t=2.0

BBENN- TIBLIEM
B% 78 LWH

TyT4 770V 7

mEH

N B mBH PAIBYRM
(@]
2 B 2ERY > SR 1=1.6

Sti=1.6 B#o *0E
™ it
yohoy t=2

Bk B RS > SR 1= P A—A BTG

) S— il R > SR 1=1.6 Wit A—A KT
S 4mm7 92EZ @300

Y Bl - (8 t=2 EB D)

~BAY

FHIBEIH W=70 >
=
fp]
Y]
L S TOI-Fry TS

(o))
g
[@N]
M8x257 b o Ty b =0 Fy b

Y UPEEPLY.
7 BHEL2T7 U -AK
3 B 2ERD- FER =23

BEVAT VDT

S 25/D o SR 1=3.2
J-¥22U1-8x75

%, AT
(V34 2bHBHE)

\—ﬁﬂz (RI&)

tERDOTZ

>-Uv 7 (Blg) 23 214 105 KR O~ =194 Uk . oA
/ 1 i +40 BELVATY W1t (Z145E)
. * (RIR) BBUAT YA (FP/AS/FPGE)
KENEIR o 3% S~ e
P07 W I-T4 VT = FO5-5-37 96 BELATYN-TH (947 1)
iR 40F=04¥- 1.80¢
(3&) TR -7
Ts2% FS53y KEBEE 5/ AE- TNy F/AS L FPG— et a8 - B e F A8 = FOROB cmymnUISTYORRSR
9 iy g AN
e WrHEkmFAN A =
I R | 2 # LA N g
I 2] E 2 72 L / i




32 RN YEERES RT-081
120 WA
35
¢
RIENS - T3 BHRH
S-yyg
(58
TEHISTw h 27002 1=2.5 HEBISTY N ZTVLR 1=2.0
BB AN- 7HIBETH
i BAVEFS2 1=6.8
T (3
JdanNvx> EPDM t=1
e BENAN- ZUIBLIM
&= T B 72 B
()
tyF4v9J0v 7 ¥=Uv7
(%)
BAVEASR t=6.8
B (38)
mE o
ﬁyﬂiﬁﬁﬂgﬁ NpE 7V IBHEM
(@)
* AR 86 HiH A SR t=1.6
Sti=1.6 B#wo 08
o i3t
yohoy t=2
Bz B &R S 1=1.6 P A—A KT
o 3 pp—— oo Myt A-A BEZAE
S 4mmF92EZ @300
Sy BN (B8 t=2 BKY)
g kiR 86
=YY e
73 =2 T W=50 ! %ﬁsmg >
o (o4
]
o) = TI-Fry S
| o~ (o))
L ///J\ p
- =" FUN-28
o ) . \\\ ////
S =7 O PERIN g
= 170 /—\ﬂ C N
0 AW BEE-2 L-30x30x3 £¢60
r_‘_H\ \\ (I%FE - BBB1E)
L —65x65%6 (31i2)
/Lj L
i ) 50 fEROTE
TV () 32 ALC 100 [ RO =45 4 40
/ 4 \—ﬁm (31%)
Bk (BIi&) 7OI-T-79 9¢
A0F-047— 1.8¢
AR5 -1
TE £S5y KEBRR 51 M 2T\ FIASL FPG— A - A e = PR =mrsosTyossatt
2 WHEHBHAE S
W 1| " I AT ]
Rl 7 5t A H / i




MG

WA

35

=

5[n]

TBWIZTw b ZFVLZR =25

BEAN- TIIBETM

BALEASZ 1=6.8
(Rl&)

daRv*y EPDM t=1

>=Uvg
(3&)

tyT4 77097

80

107

fl B A%

7B

BEH

TV BEFAM

Biif RAR® > iR t=1.0

21

yoroy t=2

B RAmD > MR 1=1.6

Bl N (Bt t=2 ZRED)

19.4

50

VKA R

7oh-28

EHENII(F1E)

50

-2 (Bi5HEE)

\\;—————fﬁiﬁ<%ﬁ>

ftERDOTE

SRR O~ A =1$35154 + 40

B EAfT (1)

FOI-r-v7 9¢
4UF-04%- 1.8¢

X

O

gHES RT-081

RIENN = 7 BT

>=Uvg
(Rli&)

HBISHY N 27002 1=2.0

BEON- 7HIBEH
Bg 7B

=)
(3&)

BAVEASZ t=6.8
(R1&)

npE 7 IBHER

Stt=1.6 BHo- xuH

Urit A-A kBN

AR =5 =N
TF%H £S5y KEBRE 54 M AE- TNy FASLI FPG— RiTSSH - 11 ‘;H{HA = =R B cershUISTyORRSER
2 WhEHERE s :
- ‘ 5 EEE R g
w 1 ® E % /A ]
R 2 st K 77777777777777777777777777777777777777777 = / e




SN XEERFS RT-081
120 A
35
¢

=)

O

RIEAN- 7 BEEM

=27
(BI&)

8ISy 27V 1=2.0

THISTwh 27002 t=2.5
BB OIN- 7HIBETH

BAVEASZ 1=6.8
(B&)

JANvx> EPDM t=1
BEAN- THIBEFH

P -
(RI&) B 7IIBBEM
tyF4v7970v 7 ¥=Uv7

(R&)

80

107

mEn
T Myt 703 BETH
KR 86 i &35HD - SR t=1.6
Sti=1.6 Bawo ¥ue
At
Yyoroy t=2
BEH St ERE s F — N A w e
3 HAsEs > $E t=1.6 MEE A-AKEEEE
SN Bl (- (B2 =2 TRD)
(318
-
o
(@)
Lo
709-Fry S
7oh-%8

FHENIIN (BIR)

BifE -2 (BEEHE)
r-yv9
(RI2)

79
FIETA

Okt

p

B \

fERDTZ
FIRFOTE =141

/ ‘ | \\444444,
L E41 (31D
Eiij ———————799-7-3v7 99
1YF-047- 1.8

FRP=F=A
K53y FEBEE 54 M AT 2Ny FAS L FPG— BT - @ lﬁ,ﬁ%ﬁ = 8 8 = FOROB cmymnUISTYORRSR
HRBELTES 72— -
T ‘ : EE | R g
@ 1 8 E # A =
IN ) = st = A\ = // 2




